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ei X new with version(&rbuf);
status = ei xreceive msg tmo(listener->sockfd, &msg, &buf, ) ;
switch (status) {
case ERL TICK:
break;
case ERL MSG:
switch (msg.msgtype) {
case ERL SEND:
if (handle msg(listener, &msg, &buf, &rbuf)) ({
return;
}
break;
case ERL REG SEND:
if (handle msg(listener, &msg, &buf, &rbuf)) ({
return;
}
break;
case ERL EXIT:
handle exit(listener, &msg.from);
break;
default:
break;
}
break;
case ERL ERROR:
break;
default:
break;
}
check log queue(listener):;
check event queue(listener);
if (check attached sessions(listener) != SWITCH STATUS SUCCESS) ({

return;
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Self = self(),
spawn (fun() ->
{'bgapi', Node} ! {'bgapi', Cmd, Args},
receive
{ 'error', Reason} ->
Self ! {'api', {'error', Reason}};
{'ok', JobID} ->
Self ! {'api', {'ok', JobID}},
receive
{'bgok', JobID, Reply} ->
Self ! {'bgok', JobID, Reply};
{ '"bgerror', JobID, Reply} ->
Self ! {'bgerror', JobID, Reply}
end
after ?TIMEOUT ->
Self ! {'api', 'timeout'}
end
end) ,
receive
{'api', X} -> X
end
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v2.0
If plan “A” didn’t work

the alphabet still has 25 more letters
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v3.0

If at first you don't succeed,
get a bigger hammer
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mod_ kazoo.c

r

kazoo fetch agemtc

kazoo node.c

I

1

kazoo _nodec

[

2]

KAzoo_evenl_streamc

KAZO0 evert _stream.c

kazoo event stream.c

KAZO0 overt stream.c

kazoo _event stream.c

kazoo event streamc
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if (switch_queue_ trypop(ei node->send msgs, &pop) == SWITCH_STATUS SUCCESS) ({
ei send msg t *send msg = (ei _send msg t *) pop;
ei helper send(ei ncde, &send msg->pid, &send msg->buf);
ei x free(&send_msg->buf);
switch_safe free(send msq);
}
status = ei xreceive msg tmo(ei node=->nodefd, &received msg->msg, &received msg=->buf, 7);
switch (status) {
case ERL TICK:
break;
case ERL MSG:
if (switch queue trypush(ei node->received msgs, received msqg) != SWITCH STATUS SUCCESS) {
el x free(&received msg->buf) ;
switch _safe free(received msqg);
}
received msg = NULL;
break;
case ERL_ ERROR:
switch (erl _errno) {
case ETIMEDOUT:
case EAGAIN:
break;
case EMSGSIZE:
switch clear flag(ei_node, LFLAG_RUNNING) ;
break;
case EIO:
switch clear flag(ei node, LFLAG RUNNING) ;
break;
default:

if (status < 0) {
switch_clear flag(ei node, LFLAG_ RUNNING) ;

}
break;
}
break;
default:
if (status < ) {
switch _clear flag(ei_node, LFLAG_RUNNING) ;
}
break;
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gen server:cast({'mod kazoo', Node}, {'sendevent',

gen server:call({'mod kazoo', Node},

{'api', Cmd, Args},

EventName, Headers})

Timeout)
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if (switch queue pop timeout(event stream=->queue, &pop,
SWITCH STATUS SUCCESS) ({
switch event t *event = (switch event t *) pop;

S
Il
n

if (event stream=->socket) ({
ei x buff ebuf;
char high, low;
switch size t size = 1;

ei x new with version(&ebuf);
ei encode switch event (&ebuf, event);

high = ebuf.index >> i;
low = ebuf.index & OxIl;

switch socket send(event stream->socket, &high, &size);
switch socket send(event stream->socket, &low, &size);

size = (switch size t)ebuf.index;
switch socket send(event stream->socket, ebuf.buff, &size);

el X free (&ebuf) ;

switch event destroy(&event);

*Nagle-less (TCP_NODELAY)
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gen tcp:connect(IP,

Port,

[{ 'mode’',

'binary'},

{ '"packet',

}1)
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How to C-node .
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Step one — Listen

el connect xinit
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Step

wo — Connect

ei_accept_tmo
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ep [ hree — Communicate

el_Xreceive_msg

ei decode version(buf->buff, &buf->index, &version);

/* is_tuple (Buff) */
ei get type (buf->buff, &buf->index, &type, &size);
if (type != ERL SMALL TUPLE EXT) ({
return SWITCH STATUS GENERR;
}

/* {_, _, _) =Buf */

ei_decoae_guple_header(buf-)buff, &buf->index, &arity):

if (arity != 3) {
return SWITCH STATUS GENERR;
}:

/* {'Sgen_call', , )} = Buf */

if (ei_decode atom safe (buf->buff, &buf->index, atom)
|1 strncmp(atom, "Sgen call™, 9)) {
return SWITCH STATUS GENERR:

}

/* {_, Sender, _}=Buff, is tuple(Sender) */
ei _get type (buf->buff, &buf->index, &type, &size):
if (type != ERL_SMALL TUPLE EXT) ({
return SWITCH STATUS GENERR;
}

/* {_, _}=Sender */

ei decode tuple header(buf->buff, &buf->index, &arity):

if (arity != 2) {
return SWITCH STATUS GENERR;
}

/* (Pid, Ref}=Sender */

if (ei_decode_pid (buf->buff, sbuf->index, &send_msg->pid)
Il ei_decode_ref(buf->buff, &buf->index, &ref)) |
return SWITCH STATUS GENERR;

)

/* (_, _, Request)=Buff, is_tuple(Request) */
ei get type(buf->buff, sbuf->index, &type, &size);
if (type != ERL SMALL TUPLE EXT) (
return SWITCH_STATUS_ GENERR:
)

/* (_, _)=Request */
el decode tuple header (buf->buff, sbuf->index, &arity):
if (arity != 2) {
return SWITCH_STATUS_GENERR;
)

/* (is_auth, _)=Request */

if (ei_decode_atom_safe(buf->buff, sbuf->index, atom)
|1 strncmp(atom, th”, MAXATOMLEN)) (
return SWITCH STATUS GENERR;
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Step Three — Communicate

el send

el x new(&send msg->buf);

/* To ! {Tag, Reply} */

el X new with version(&send msg->buf) ;

el x encode tuple header (&send msg->buf, 2);
el x encode ref (&send msg->buf, &ref);

el x encode atom(&send msg->buf, "yes");
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struct el event stream s {
switch memory pool t *pool;
el event binding t *bindings;
switch queue t *queue;
switch socket t *acceptor;
switch pollset t *pollset;
switch pollfd t *pollfd;
switch socket t *socket;
switch mutex t *socket mutex;
switch bool t connected;
char remote ip[Z5];
uintlé t remote port;
char local ip[Z°5];
uintlé t local port;
erlang pid pid;
uint32 t flags;
struct el event stream s *next;
};

typedef struct ei event stream s el event stream t;
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switch status t bind fetch agents() {
bind fetch agent(SWITCH XML SECTION CONFIG, &globals.config fetch binding);
bind fetch agent (SWITCH XML SECTION DIRECTORY, &globals.directory fetch binding);
bind fetch agent (SWITCH XML SECTION DIALPLAN, &globals.dialplan fetch binding);
bind fetch agent(SWITCH XML SECTION CHATPLAN, &globals.chatplan fetch binding):;
bind fetch agent (SWITCH XML SECTION CHANNELS, &globals.channels fetch binding);

return SWITCH STATUS SUCCESS;
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int ei decode string or binary limited(char *buf, int *index, int maxsize, char *dst) ({
int type, size, res;
long len;

ei get type(buf, index, &type, &size);

if (type != ERL STRING EXT && type != ERL BINARY EXT && type != ERL NIL EXT) {

return - ;

}

if (size > maxsize) {
return - ;

}

if (type == ERL NIL EXT) ({
res = 0;
dst = '\0"';

} else if (type == ERL BINARY EXT) {
res = ei decode binary(buf, index, dst, &len);
dst[len] = '\0'; /* binaries aren't null terminated */
} else {
res = el decode string(buf, index, dst);

return res;
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for (1 = 0, hp = event->headers; hp; hp

hp=->next, i++);

if (event->body)
1++4;

ei x encode list header(ebuf, i + 1);

if (uuid) {
char *unique id = switch event get header (event, "unigque-id");
ei x encode binary(ebuf, unique id, strlen(unique id));

} else {
ei x encode_atom(ebuf, "undefined");

}

for (hp = event->headers; hp; hp = hp->next) ({
ei X encode tuple header(ebuf, 7);
ei X encode binary(ebuf, hp->name, strlen(hp->name));
switch url decode (hp->value);
ei x encode binary(ebuf, hp->value, strlen(hp->value));

}

if (event->body) ({
ei x encode_tuple header (ebuf, 7);
ei x encode binary(ebuf, "body", strlen("body")):
ei x encode binary(ebuf, event->body, strlen(event->body)):

ei x encode empty list (ebuf);
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